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EconoMICS
PrInCIPLES OF MICRO ECcoNoMics-1

DSC (DSCECOG2)

Time Allatted: 2 Hours Full Marks: 40

1.

The figures in the margin indicate full marks.
Candidates are reguined to give their answers in their own waords as far as practicable.

GROUP-A
faem-=
Answer any alf questions from the following: l=10=10
feRfRe e we Terwe:
(@) Define inferior goods.
fore® Bre e we
(b) What do you mean by opportunity cost?
FOM YN T W o ¢
{¢) Draw an average fixed cost curve.
b o e = @m oo == @
(d) Define marginal rate of substitution,
elifa sffreon AT w7

(¢} What will be the value of cross elasticity of demand if the goods are
independent?
=i = osr e ferrmem R s BA y

() If AR =4 and ey = 2. then what will be the value of MR? (AR = Average
revenue, ¢z = clasticity of demand)
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THAR =4 ey~ 2 TWEAMR S THFE 2

(A) 6 (B5) 4 ()2 (M I
(g) When total utility is maximum marginal utility wiil be
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(h) In short run when outpit of a finn increases its average fixed cost:

(A) remains constant (B) decreases
(C) increases (D) first decreases then rises
A ) e S QS i S oS P T -
(A) faz wa (B) #93
(C) 4= (1)) 29T WA {3 AE
(i) In short run of’a perfectly competitive murket:
(A) Price 7 AR=MR (B) Price = AR = MR
(C) Price= AR # MR (D)) Price 4 AR £ MR
< sifermirer e ww T o
(A) 1% # AR = MR (B) 7@ = AR = MR
(CYF==AR# MR (INEE 7 AR MR
(i) The shape of total variable cost Curve is
(A) S’ shaped (B) *U” shaped
(C) inverse *S" shaped (D)) inverse ‘1" shaped
=t wftadaiin g @0 o -
(A) ‘S’ =Fiea (B) ‘1" =g
(C) &%) 'S wigiem (D) &1 ‘U wighed
GROUP-B
fasm.a
2. Write short note an any ene 0f the following: Sx] =5

e crponal @afB =7a Ba wet
(a) Price elasticity, income elasticity and cross price elasticity of demand.
wranry Fufee e, s fEfEneme o sRrfe ffeyee)
(b) Consumer Surplus
ettt ByE
(¢) Features of Perfectly Competitive market.
# giferiiEreR ey wEEn

GROUP-C
fast-s

Answer any ane question from the following 10x1 =10
fmElEe - 9Bih oo 56 We

i Explain the process of atining consumer equilibrium with the help of 10
Indifference curve and budget line.
Frors oY) o 2NET @YR TG GFRR SRS TR efEm e
Locf]
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4. How would you measure elasticity of demand at a particulsr point on a
straight line demand curve?
= e siEm e ons awl e wiime Rfvere feeim v
T

5 Explain law of variable proportion with suitable diagram showing the
relationship among total product (TP), avemge product (AP), marginal
product (MP).
Se um wE ~fddn wpree B g em o @F Sen, 1
TeoiE @ difes Tovfa R o T GRS |

GROUP-D
fasmm
Answer any one question from the following
RS - e wie Tee e

6. Show thut, Price effect = Substitution effect + Income effect
e W el = wioed amE 4w EEE)

7. (a) With the help of a suitable diagram explain the process of determination of
equilibrium price of a commodity in short um under perfectly competitive
market.

Tompe oo =wita ww s o fifer e s e e e
“{E <7] =)

(b} Explain under perfect competition seller is price taker or price maker.
v v gfemiton Ao Ruee wm <3er aee =y fnfte) Bee v
w0 )

8. (#) Show with a suitable illustration that short run totl cost is the sumimation of
the total fixed cost and 1otal varishle cost.

Bere Gammes ARICH crie 1 ¥uEiie G 20 Tl a8 Pl 0w e o
*fiEgasie A Ce |

(b} How will you draw long run average cost curve of a firm from the short run
averags cost curves?

O F 3 @ G g Feen Tieii s A e e e g
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